ΠΟΛΛΑΠΛΑΣΙΑΣΜΟΣ (13) 
Χρωματίζω τα κουτάκια που πρέπει.
	

	

	

	


	3+3+3 = 3Χ3 = 9
4+4= ___________ = ____

5+5= ___________ = ____

1+1+1+1+1+1+1=___________ = ____

2+2+2 = _________ = ____
3+3 = _________ = ____
2+2+2+2+2 = ___________ = ____

3+3+3= _________ = ____
1+1+1+1+1+1+1+1 = _________ = ___
2+2+2+2 = _________ = ____
	5 Χ 2 = 2+2+2+2+2 = 10
7 Χ 1 = ___________________ = ____
3 Χ 2 = _____________ = ____
6 Χ 1 = ________________ = ____
3 Χ 3 = ______________ = ____
2 Χ 2 = _________ = _____
2 Χ 4 = _________ = _____
3 Χ 1 = _________ = _____

4 Χ 1 = _________ = _____
2 Χ 3 = _________ = _____


Όνομα: ______________________ Επίθετο: ___________________ Τάξη: _____

